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9. Which of the following statement regarding minimum wage is the most accurate?

10.

11,

12.

a) A raise in minimum wage can have little impacts on employment, when firms have monopsony
power

b) Currently most economists agree that a marginal raise in minimum wage would lead to more
unemployment

¢) A raise in minimum wage in general leads to higher equilibrium wage rate but lower quantity of
labor demand.

d) None of the statements above is accurate

e) The first three statements are equally accurate

Which of the following is NOT commonly studied by people in agricultural economics
departments?

a) Environmental economics

b) Development economics

¢) Monetary economics

d) Natural resource economics

e) Agricultural economists commonly study all the above

Which of the following is the most important identifying assumption when using
difference-in-differences designs for program evaluations?

a) Common support

b) Exclusion restriction

c) Parallel trends

d) Continuity

e) None of the above

Which of the following(s) are the identifying assumption(s) when using instrumental variable
strategy?

a) Relevance

b) Exogeneity

¢) Exclusion restriction
d) Monotonicity

e) Continuity

f) None of the above
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13. In Hill and Ma (2022), the abstract states that “[t]his study assesses the health risks associated with
drinking water contamination using variation in the timing and location of shale gas development
(SGD).” Given the above information, the study likely leveraged which of the following causal
inference method(s)?

a) Regression discontinuity
b) Difference-in-differences
¢} Matching

d) Synthetic control

e) None of the above

14. Do you agree with the following statements? Why or why not? (2 pts each)
a) “To achieve greater quality, we could redistribute income from wealthy to the poor; but this
reduces incentive to work and produce, shrinking the size of economic pie?”
b) “Implementing pollution regulations can lead to cleaner environment and improved health, but
at the cost of reducing the well-being of the firms’ owners, workers, and customers?”

15. In 200 words, either Mandarin Chinese or English, explain why obtaining a master's degree in
agricultural economics aligns with your career goals. (20 pts)
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